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A very long conducting q.-'hm:lnr:,nl rod of radius 1 cm carries o ch.n.rgr;- of 1 pC/m. Itis surrounded by
a concentnic hollow cylindrical pipe-shaped conductor of radius 3 em. which camies a cha:g/qf

=1 pCim.

¥Yoltage for cylindrical conductors
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al Use Gauss' Law to determine the clectric field between the conductors, as a function of radius.

Skeich the field. S
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¢ Based on your answer to b}, which conductor is at higher voltage? Docs this make sensc with the
glectric ficld direction from a)?

(o V @ owle (7) conduchn-




